1L VAYA S IA
Indexable Insert Shoulder Milling Cutter

INDE“ABI.E INSERT SHu“lnEn MFOOAP .. 1135 o C3
MILLING CUTTER o :

MEQOTP..T003. ... C5
MEQOWN..O403......coiiiic et C6

I (7]

Indexable Insert Face Milling Cutter

7
Bl
7
21

=
]
c
z
@
()
c
5
=
m
el
")

MFOOTD.. 1505, ettt c7
MFOQOAN..T70B.. ..ottt e e cs
MEOQOAPR .. 1135 e (o1°]
MFOQOAP..ABOZ ...ttt ere e C10
MFOOSP.. 1004 ...ttt snneere e c1
MFEOQOLN.L.TT0B....c ettt et e e Cc12
MPEOQOLN.L.TB0B.....ceeeeeieeie ettt Cc13
MEOQOSD.. 1205, . ettt Cc14
MEOOWNL.O807 ...ttt c15
MFBIOSIN.. 1305, e C16
MFEABSN..A306.. ...t c17
MFEABSNL.ABOB. ... C18
MFABON..05086.... e e Cc19
LIS 2 I PSSP C20
MFASSET .. 12T 3o c21
MFASHN..Q06.......cctieiieeiie ittt ere e ere e sree e C22
FESD.. BRIFEATETIER oo c23
Fast Feed Milling Cutter

MFR/LA15 BIEZCABHETT <o e C24
Adjustable Finish Milling Cutter

MMOO0SD..1204.. FEREIRERTETT oo C25

Dampening Helical Milling Cutter

&

soTooL [

C1 www.sunder-tools.com
BENETS




=
=
=
=z
®
o
c
=
=
ful
o]
o

C3

INDEXABLE INSERT SHOULDER MILLING CUTTER uJ%&{i3z%%7]

ME90AP..1135..

Kr=90°

Dc
1
|
1
|

———————————— —s M‘%

X2

YV @

M = =2
RS De d1 X1 x2 L UWE o kg TARS #E
Designation z Insert Stock
ME90AP D016.C16.202.11.90 16 C16 26 90 9.52 2 15 0.13 AP..1135.. .
ME90AP D016.W16.202.11.85 16 W16 26 85 9.52 2 15 0.13 AP..1135.. .
MES0AP D020.C20.202.11.110 20 C20 30 110 9.52 2 75 0.25 AP..1135.. .
ME90AP D020.W20.202.11.90 20 W20 30 90 9.52 2 7.5 0.22 AP..1135.. .
MES0AP D025.C25.203.11.120 25 C25 35 120 9.52 3 11.5 0.46 AP..1135.. .
ME90AP D025.W25.203.11.95 25 W25 35 95 9.52 3 1.5 0.4 AP..1135.. .
MES0AP D032.C32.204.11.130 82 C32 40 130 9.52 4 10 0.75 AP..1135.. .
ME90AP D032.W32.204.11.110 32 W32 40 110 9.52 4 10 0.62 AP..1135.. .
MES0AP D040.C40.204.11.150 40 C40 45 150 9.52 4 10 0.86 AP..1135.. °
ME90AP D040.W40.204.11.130 40 W40 45 130 9.52 4 10 0.75 AP..1135.. .
® T iBRIBR R S IRITTE,
o MIFENTIHISE, EEE: (5 C41 T,
® JTHURM): 14 ME9OAP D016.C16.202.11.90-
® Inserts should be ordered separately .
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MEQOAP D016.C16.202.11 .90
Spare Parts
= TR SIRIRET TR SIRIRF
Clamping screw for insert Allen key for claming screw
IV R SR20M256 KEY02T3
R~ BECIN AR PIHIS =
DWU Size I\ZIJu]h:;gtgg Material Cutting parameter
gt r F 1 EERID ap(mm) fz(mm/z)
AN EEENE R EIPPEEY 0.8 1.2 11.1 ! Mediumduty e e e 2.0-8.0 0.08-0.15
A EEENZS R PDP0) 0.4 1.2 11.3  5E Medium duty ° 2.0-8.0 0.10-0.30
o ITEETF © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA)
Item in stock Item of short delivery time Order on demand

www.sunder-tools.com

(please confirm delivery time when ordering it) (please confirm delivery time when ordering it)

INDEXABLE INSERT SHOULDER MILLING CUTTER nJ%&f:3z%%7]

ME90APF..1604..

Kr=90°

Dc
1
|
1
|

.............. R I QIR

X2

YV @

ME90AP D025.C25.202.16.120 25 C25 26 120 10.2 1.5 0.46 AP..1604.. °
MES0AP D025.W25.202.16.95 25 W25 26 95 10.2 1.5 0.4 AP..1604..
MESOAP D032.C32.203.16.130 32 C32 30 130 10.2 10 0.42 AP..1604..
ME9S0AP D032.W32.Z203.16.110 32 W32 30 110 10.2 10 0.62 AP..1604..
MES0AP D040.C40.203.16.150 40 C40 45 150 10.2 10 0.86 AP..1604..
ME9S0AP D040.W40.203.16.130 40 W40 45 130 10.2 10 0.75 AP..1604..

esignation z Insert Stock
2
2
3
3
3
3

® JIFIBRIBREIM IR IRITI,

o MIFEMENENTYISE, B8R (5 C41 7.

® TERMI: 1 MESOAP D025.C25.202.16.120

@ Insert should be ordered separately .

® Recommended cutting data please see page C41.

® Ordering sample: 1 PC ME9QOAP D025.C25.202.16.120

Spare Parts
Insert Clamping screw for insert Allen key for claming screw
AP..1604.. SR20 M4x9.5 KEY02 T15

& R mrxn | ERITHR i
Diagram = F | Machine type ap(mm) fz(mmlz)
APKT 1604TR-R4P 2235 0.8 1.8 173 ZH& Heavyduty e e e 6.0-14.0 0.10-0.20
APKT 1604PDER-R5N 2020 (K] 1.7 17.92 FE Medium duty ° 6.0-14.0 0.15-0.25

O TR (75, EMIASHEE)

® IR © FAREER (ITHEY, BHINE)

Item in stock Item of short delivery time Order on demand

SOTOOL

wEHE/IR

&

(please confirm delivery time when ordering it) (please confirm delivery time when ordering it)

A TESE

=
=
=
=z
@
o
c
5
=
m
]
(1]

C4




z
-
=
=
=)
o
c
=
—
m
o
n

C5

INDEXABLE INSERT FACE MILLING CUTTER vI%&{umt7]

ME90TP..1003..

Kr=90°

f

A

o

AL

ap
T H
L
AUER S TREE R
ME90TP D25.C25.Z203.10.120.C 25 8 3 120 25 25 2.9 0.382 TP..1003.. .
ME90TP D25.C25.Z203.10.200.C 25 8 3 200 40 25 2.9 0.653 TP..1008.. .
ME90TP D32.C32.Z204.10.130.C 32 8 4 130 30 32 2.1 0.703 TP..1003.. .
ME90TP D32.C32.Z204.10.200.C 32 8 4 200 40 32 2.1 1.1 TP..1003.. .
® TIFIERIBTEIM I EIRITI.
o MIRREWLIHIBE, EBR: (5 C41 7,
® iTHURGI: 1 MEQOTP D25.C25.203.10.120.C..
@ Inserts should be ordered separately .
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MEQOTP D25.C25.203.10.120.C.
Spare Parts
Insert Clamping screw for insert Allen key for claming screw
TP..1003.. SR20 M3.5x6.5 KEY02 T10
= R~F BECHN TH4E RIS HE
DWJ 7] {# gr%“? Size Material Cutting parameter
Lty s | di S r F ap(mm) fz(mm/z)
VGO DR EEE S PARTE 109 7.5 385 0.8 0.7 . 1.2-8.00 0.08-0.15
ML U E & ARIN 109 7.5 3.85 0.8 0.7 ° 1.2-8.00 0.08-0.15

® IR

Item in stock

www.sunder-tools.com

© HATAERETE (TR, ERIAREH)
Item of short delivery time
(please confirm delivery time when ordering it)

O TEERF (TT5RY, EMIASCHH )

Order on demand

(please confirm delivery time when ordering it)

INDEXABLE INSERT FACE MILLING CUTTER vI%&{iumt7]

ME90WN..0403..

Kr=90°

Dc
d1

%

%

| I =2 S =
0w @ L u oz we 7HEE 2R
ME90WN D020.C20.203.04.150 20 4 20 150 30 3 Y WN..0403.. ©
ME90WN D025.C25.204.04.170 25 4 25 170 30 4 Y WN..0403.. ©
ME90WN D032.C32.205.04.195 32 4 32 195 30 5 Y WN..0403.. ©
ME90WN D035.C32.205.04.195 35 4 32 195 30 5) Y WN..0403.. ©
ME90WN D040.C32.206.04.195 40 4 32 195 30 6 Y WN..0403.. ©
ME90WN D040.C32.203.08.160 40 7.5 32 160 60 3 N WN..0807.. ©
® TR IERIBR MK R IRITME,
o IMIFEMETIENTYISE, ESBRB: (5 C31 7.
® ITERMGI: 1 ME9OWN D020.C20.Z03.04.150.
@ Insert should be ordered separately .
® Recommended cutting data please see page C31.
® Ordering sample: 1 PC ME9OWN D020.C20.203.04.150.
&
Spare Parts
7] TI R SR ERET TR SR F
Clamping screw for insert Allen key for claming screw
WN..0403 SR20 M2.5x6.5 KEY02 TO7
WN..0807.. SR20 M4x11.5 KEY02 TO7
= e 5 L el koot
Pl fnsert D di S r VC(m/min) ap(mm) fz(mm/z)
LWL QZVENZE ElepyRl 6.7 3.25 33 04 o o o ° 120-200 4 0.1-0.2
WD QEUEIEE eyl 67 325 33 08 o o o ° 120-200 4 0.1-0.2
WL QZVENER ElepyZlg 6.7 3.25 3.3 0.8 ° o . 120-200 4 0.1-0.2
UL QENOER EleyRIN 1248 4.6 645 08 o o 120-200 7.5 0.1-0.2
WS QENVOER L @ ryl 1248 4.6 645 0.8 . 120-200 7.5 0.1-0.2
SO EN O AP 12.48 4.6 6.45 0.8 . 120-200 7.5 0.1-0.2
LWL QELOER EleyZINg 12.48 4.6 6.45 0.8 ° o ° 120-200 7.5 0.1-0.2
o ITEEFETF ©° T#ﬁﬂ&flﬁ:i ( ZT%N) Eﬁ%i)\iﬁﬁﬁ) o TFETF (1THAY, BN ) "®
fom in stock (:r:aZesco:;im? Ir;,eelli?/’e(:'ryn fime when ordering it) ‘(:;):::Z;: r;::f[l?:ngelivery time when ordering it) :” SD Tﬂgfg]é

A TESE

s
=
=
=z
®
o
c
=
=
m
o]
(1]

C6




INDEXABLE INSERT FACE MILLING CUTTER vI%&{umt7] INDEXABLE INSERT FACE MILLING CUTTER vJ${iimt7]

MF90TD..1505.. MF90AN..1706..
Kr=90° Kr=90°
. I . WY@
= Da — Da
— i R
: : s L
m—— D027 | V222777
=J -
3 ® =
D
MEES o s TRES £ MgES o PR NRES 1EFE
D ap 4 L D3 Da Rd Coolant Kg Insert Stock Designation D ap z L D3 Da Rd Coolant Kg Insert Stock
MF90TD D050.B22.Z204.15.C 50 13 4 40 46 22 1.6 Y 0.278 TD..1505.. . MF90AN D050.B22.204.17.C 50 16.3 4 40 48 22 3.8 Y 0.304 AN..1706.. .
= MF90TD D063.B22.205.15.C 63 13 5 50 59 22 1.2 Y 0.523 TD..1505.. ° MF90AN D063.B27.204.17.C 63 16.3 4 50 59.2 27 2 Y 0.669 AN..1706.. . =
= MF90TD D080.B27.206.15.C 80 13 6 50 74 27 0.9 Y 1.17 TD..1505.. ° MF90AN D080.B27.205.17.C 80 16.3 ) 50 63 27 1:5 Y 0.8 AN..1706.. . %ﬁ =
g MF90TD D100.B32.206.15.C 100 13 6 50 80 32 0.7 Y 1.45 TD..1505.. ° MF90AN D100.B32.208.17.C 100 16.3 8 50 80 32 1 Y 1.474 AN..1706.. . ﬁu g
2 MF90TD D125.B40.207.15.C 125 13 7 63 82 40 0.5 Y 2.294 TD..1505.. ° MF90AN D125.B40.207.17.C 125 16.3 7 63 82 40 0 Y 2.41 AN..1706.. . 7] 2
ﬁ MF90TD D160.B40.210.15 160 13 10 63 105 40 0.3 N 3.996 TD..1505.. . MF90AN D160.B40.208.17 160 16.3 8 63 105 40 0 N 4.1 AN..1706.. . E ﬁ
3 MF90TD D200.B60.211.15 200 13 11 63 135 60 0.2 N 5.219 TD..1505.. . MF90AN D200.B60.210.17 200 16.3 10 63 135 60 0 N 5.988 AN..1706.. ° ]
R — MF90AN D250.860.212.17 250 163 12 63 144 60 0 N 9.338 AN..1706.. .
o MIFEMETIANTIYISE, EBR: (& C41 7, s oy s
® TEURG: 1 #F MFOOTD Doso.Bzz.z?JMs.m . ° ﬂﬁm*_&?%?ﬁlzﬂﬁzi W@?
® Insert should be ordered separately . ° pﬂifﬁ]?’\]ﬂ]%ﬂ;ﬁ, BER: (5 C41 T,
® Recommended cutting data please see page C41. © iR 1 #F MFOOAN D050.822.204.17.C.
® Ordering sample: 1 PC MF90TD D050.822.204.15.C. © Inserts should be or_dered separately .
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF90AN D050.B22.204.17.C.
Spare Parts Spare Parts
Insert Clamping screw for insert Allen key for claming screw Insert Clamping screw for insert Allen key for claming screw
TD..1505.. SR21 M5x12 KEY02 T15 AN..1706.. SR20 M5x14 KEY02 T20
- R~ BECHN TH4E RIS = R~ BB T RIS
DEWJ 7 f# %"? Size Material g Cutting parameter DWJ 7 f# %"? Size Material - Cutting parameter
Lk e | di S r F ap(mm) fz(mm/z) Lty s | W s r F ap(mm) fz(mm/z)
FIPLG RN ETE D8R PARDN 16.7 114 585 08 14 e o 1.5-13.00 0.08-0.15 LOLC VORISR PAKTIN 16.7 112 104 08 47 o o 5.00-15.00 0.15-0.3
L LR ETE 8] @A KTl 16.7 11.4 585 0.8 14 ° 1.5-13.00 0.08-0.15 LULCRVOLTEIS SR ARIE 16.7 11.2 104 0.8 4.7 . 5.00-15.00 0.15-0.3
o ITEETF © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA) o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand " SDTaaL
C7 www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) " EETIE C8




=
]
c
z
@
()
c
5
=
m
el
")

INDEXABLE INSERT FACE MILLING CUTTER vI%&{umt7]

MF90AP..1135..

Kr=90°

d1
[y

by

%

‘ Dc
| 1 =2 1=
?Jﬁi? Dc d1 H Lc DH& a® Kg ﬂ)#gz"? EE
esignation z Insert Stock
MF90AP D040.B16.204.11 40 16 40 1" 4 1.85 0.25 AP..1135.. °
MF90AP D050.B22.Z05.11 50 22 40 1" 5 1.4 0.35 AP..1135.. °
MF90AP D063.B22.Z06.11 63 22 40 1" 6 1 0.53 AP..1135.. °
MF90AP D080.B27.Z08.11 80 27 50 1 8 0.9 0.87 AP..1135.. °
® T iBRIBR R R S IRITE,
o MIFREFKTIANTIHIBE, BBR: (& C41 T,
® iTHRAG): 1 4+ MESOAP D040.B16.203.16.
@ Insert should be ordered separately.
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF90AP D040.B16.203.16.
Spare Parts
Insert Clamping screw for insert Allen key for claming screw
IO SR20 256 KEY02T8
R~ BECAN IR TIHIS S
D@W“ Size l\?u:hl:asﬂ Material Cutting parameter
iagram F I achine type ap(mm) fz(mmlz)
APMT 113508TR-M8P 2235 1.2 111 ®f Mediumduty e e e 2.0-8.0 0.08-0.15
APMT 113504TR-M9N 2020 1.2 11.3 = # Medium duty . 2.0-8.0 0.10-0.30

® IR

Item in stock

www.sunder-tools.com

© TR (TR, ERIAREH)
Item of short delivery time
(please confirm delivery time when ordering it)

O TEERF (TT5RY, EMIASCHH )

Order on demand
(please confirm delivery time when ordering it)

INDEXABLE INSERT FACE MILLING CUTTER vI%&{iumt7]

MF90AP..1604..

Kr=90°

d1
Iy

v

‘ Dc
AAEES s o - Le JTIB® kg NRES &
Designation z Insert Stock
MF90AP D040.B16.203.16 40 16 40 16 3 4 0.2 AP..1604.. .
MF90AP D050.B22.Z04.16 50 22 40 16 4 2.6 0.33 AP..1604.. .
MF90AP D063.B22.Z05.16 63 22 40 16 5 2 0.44 AP..1604.. .
MF90AP D080.B27.206.16 80 27 50 16 6 0.8 0.94 AP..1604.. .
MF90AP D100.B32.207.16 100 32 50 16 7 0.7 1.48 AP..1604.. .
MF90AP D125.B40.208.16 125 40 63 16 8 0.5 2.92 AP..1604.. .
® JIFiBRIBREIM IR IRITIE,
o MIFEMETIEMIYISE, EBR: (& C41 7,
® JTHRM: 14 MEQOAP D040.B16.203.16.
@ Insert should be ordered separately .
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF90AP D040.B16.203.16
Spare Parts
Insert Clamping screw for insert Allen key for claming screw
AP..1604.. SR20 M4x11.5 KEY02 T15
R~ BECIN AR RIS
Ef51 Size IJl]I?éi-ﬂ Material Cutting parameter
Diagram Machine type
r F | ap(mm) fz(mm/z)
APKT 1604TR-R4P 2135 0.8 1.8 173 ZEf#lHeavyduty e e e 6.0-14.0 0.10-0.20
APKT 1604PDER-R5N 2020 0.8 1.7 17.92 FFE Medium duty . 6.0-14.0 0.15-0.25

® IR

Item in stock

© HIRERETE (TR, ERINZEH)
Item of short delivery time
(please confirm delivery time when ordering it)

o TlEfF (175, 1B

Order on demand

)

(please confirm delivery time when ordering it)

2

SOTOOL

wEHEIR

A TESE

s
=
=
=z
®
o
c
=
=
m
o]
(1]

C10




INDEXABLE INSERT SHOULDER MILLING CUTTER uJ%&{i3z%%7] INDEXABLE INSERT SHOULDER MILLING CUTTER nJ%&f:3z%%7]

MF90SP..1004.. MF90LN..1106..
Kr=90° Kr=90°
d1
f— d1
= | D
[t Ld ) |
i i |
L) z |
S = e | T
e mae g | 4
: o3 el e
! Dc é[ !_ Dc | é
| I 2 =2 MR A2 1=
esignation z Insert Stock Designation z Insert Stock
MF90SP D040.B16.203.10 40 16 40 9.6 3 0.19 SP..1004.. ° MF90LN D040.B16.204.11.R/L 40 16 40 5 4 0.22 LN..1106.. °
= MF90SP D050.B22.204.10 50 22 40 9.6 4 2 0.33 SP..1004.. ° MF90LN D050.B22.Z05.11.R/L 50 22 40 5 5 0.32 LN..1106.. ° =
£ MF90SP D063.B22.205.10 63 22 40 9.6 5 0.8 0.45 SP..1004.. ° MF90LN D063.B22.206.11.R/L 63 22 40 5 6 0.47 LN..1106.. ° %ﬁ =
g MF90SP D080.B27.205.10 80 27 50 9.6 5 1.25 0.88 SP..1004.. ° MF90LN D080.B27.Z11.11.R/L 80 27 50 5) 1 1.02 LN..1106.. o ﬁu g
@ MF90SP D100.B32.207.10 100 32 50 9.6 7 0.75 1.40 SP..1004.. ° MF90LN D100.B32.209.11.R/L 100 32 50 5) 9 1.38 LN..1106.. ° 7] 2
ﬁ MF90SP D125.B40.209.10 125 40 63 9.6 9 0.75 2.58 SP..1004.. ° MF90LN D125.B40.Z210.11.R/L 125 40 63 5) 10 2.71 LN..1106.. ° E ﬁ
] o TIE B IRER M ST, MF90LN D160.B40.Z212.11.R/L 160 40 63 5 12 4.66 LN..1106.. . 2
o MTRREMKITIRNTIEISH, EBR: (T C41 T, MF90LN D200.B60.Z216.11.R/L 200 60 63 5 16 5.84 LN..1106.. o
® JTHR{): 14 ME9OSP D040.B16.203.10.
® Insert should be ordered separately . ® TR iERIER R R IRIT .
® Recommended cutting data please see page C41. o MIAEMETIENIMIZEH, BEBR: (5 C41 7,
@ Ordering sample: 1 PC MF90SP D040.B16.203.10. ® iTEIRM): 1 £ MFOOLN D040.B16.204.11.R
@ Insert should be ordered separately.
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF90LN D040.B16.204.11.R.
Spare Parts Spare Parts
Insert Clamping screw for insert Allen key for claming screw Insert Clamping screw for insert Allen key for claming screw
SP..1004.. SR21 M4x9.5 KEY02 T15 LN..1106.. SR20 M3.5x11.5 KEY02 T10
R~ BRI T4 IS R~ EECH A4 IR S HE
DWJ Size I\ZIJu:hE;stgg Material Cutting parameter DE% Size I\flju:lh:;stﬂ Material Cutting parameter
achine type
e r F | e ap(mm) fz(mm/z) g w S r il ap(mm) fz(mm/z)
SIS GIELER T PPEEE 10.2 423 0.7 8 Mediumduty e e 4.0-8.0 0.08-0.15 LNKX 1106T-R4P 2230 6 11.16 11 0.8 7 Heavy duty o o 1.5-5.0 0.17-0.25
SR DEDECPE 102 4.23 0.7 5E Medium duty ° 4.0-8.0 0.08-0.15 LNKX 1106T-R4K 2215 6 11.16 11 0.8 FE Medium duty ° 1.5-5.0 0.15-0.20
\ LNAR 1106F-M8N 2020 6 11.16 11 0.8 128 Light duty ° 1.5-5.0 0.15-0.20
LNMT 110608-M5G 2230 ] 1" 1 038 FE Medium duty o o 1.5-5.0 0.10-0.25
LNMT 110608-M5K 2115 N 1 1 08 F#E Medium duty . 1.5-5.0 0.12-0.30
o ITEETF © HATAERETE (TR, ERIAREEH) O FRETF (ITHEBY, ERIAREEA) o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "‘®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand
Cc1 www.sunder-tools.com omnsioe (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) omnsiod (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) "’ Snrmgfg]é C12




INDEXABLE INSERT FACE MILLING CUTTER vI%&{umt7] INDEXABLE INSERT FACE MILLING CUTTER vJ${iimt7]

MF90LN..1506.. MF90SD..1205..
Kr=90° Kr=90°
i : d1 Q Z
d1
LS | ,I = |
i [
L
1 T ’ T
3 [ |
e Jo j DIANIES 120 O
Dc 8 907
= ' Dc
RS TR TRES T MBES TIR# TIRES £
De a1 H Le z Kg Insert Stock Designation De d1 H Le z Kg Insert Stock
MF90LN D050.B22.205.15.R/L 50 22 40 7 5 0.4 LN..1506.. . MF90SD D050.B22.204.12 50 22 40 11.8 4 0.26 SD..1205.. ©
MF90LN D063.B22.205.15.R/L 63 22 40 7 5 0.5 LN..1506.. ° MF90SD D063.B22.205.12 63 22 40 11.8 5 0.42 SD..1205.. ©
E MF90LN D063.B22.208.15.R/L 63 22 40 7 8 0.5 LN..1506.. o MF90SD D080.B27.206.12 80 27 50 11.8 6 0.86 SD..1205.. © %ﬁ é
g MF90LN D080.B27.207.15.R/L 80 27 40 7 7 0.85 LN..1506.. . MF90SD D100.B32.207.12 100 32 50 11.8 7 1.42 SD..1205.. © ﬁu g
e MF90LN D080.B27.Z210.15.R/L 80 27 50 7 10 0.85 LN..1506.. o MF90SD D125.B40.208.12 125 40 63 11.8 8 2.65 SD..1205.. © 7] 2
ﬁ MF90LN D100.B32.208.15.R/L 100 32 50 7 8 1.8 LN..1506.. ° MF90SD D160.B40.209.12 160 40 63 11.8 9 3.77 SD..1205.. © E ﬁ
2 MF90LN D125.B40.Z209.15.R/L 125 40 63 7 9 3.0 LN..1506.. . MF90SD D200.B60.213.12 200 60 63 11.8 13 6.70 SD..1205.. © 2
MF90LN D160.B40.210.15.R/L 160 40 63 7 10 6.0 LN..1506.. . o I EREREI ST
MF90LN D200.B60.Z12.15.R/L 200 60 63 7 12 8.2 LN..1506.. . o MIAEMKIANIMIBE, EBH: 5 C41 7L,
MF90LN D250.860.Z15.15.R/L 250 60 63 7 15 12.2 LN..1506.. . @ STERG: 1 ff MFOOSD D050.822.205.12.
® Insert should be ordered separately.
MF90LN D315.B60.220.15.R/L 315 60 80 7 20 28.3 LN..1506.. . ® Recommended cutting data plsase sea page C41.
® Ordering sample: 1 PC MF90SD D050.822205.12.
® JIFiBIRIER R R IR T,
o MITEMETIANYIMISE, ESR: (5 C41 7,
© JTHURG): 14 MFOOLN D050.B22.204.15.R.
® Insert should be ordered separately .
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF90LN D050.822.Z204.15.R.
Spare Parts Spare Parts
= i i NRES TIRHIRRET TR SR F
LN..1506.. SR20 M4x11.5 KEY02T15 PR SR20 M4x115 HEMTEARD
R~ BRI IR RISt R~f EECIN TR RIS
Dwu Size &Jﬂ-}%ﬂ Material Cutting parameter DEWU Size nim'}%gg Material Cutting parameter
S | S r achine ype ap(mm) fz(mm/z) A9 | S r achine ype ap(mm) fz(mm/z)
LNKX 1506 T-M8K 2215 15 13.9 0.8 F#) Medium duty ° 2.0-7.0 0.20-0.30 DD QPOERE YK 12.7 5.1 0.8 H# Mediumduty e e 4.0-10.0 0.07-0.12
LNKX 1506T-R4P 2235 15 139 0.8 A Heavy duty ° o 2.0-7.0 0.30-0.40 SDMX 1205-M8K 2215 IePAAEEN| 0.8 ##! Medium duty ° 4.0-10.0 0.07-0.12
LNAR 1506F-M8N 2020 15 13.9 0.8 128 Light duty ° 2.0-7.0 0.10-0.15
LNMT 150608-M7G 2230 15 139 0.8 E7Y Heavy duty ° o 1.5-56.0 0.10-0.25
LNMT 150608-M7K 2115 15 139 0.8 78! Heavy duty . 1.5-5.0 0.12-0.30
LNMT 150608-F3M 2140 15 139 0.8 A Medium duty . 1.5-5.0 0.10-0.25
o ITEETF © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA) o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand " sDTaaL
C1 K3 www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) ‘/ Prrpoie C14




INDEXABLE INSERT FACE MILLING CUTTER vI%&{umt7] INDEXABLE INSERT FACE MILLING CUTTER vJ${iimt7]

MF90WN..0807.. MF89SN..1305..
Kr=90° Kr=89°
W& i} v
dm dm Da
w w
]
L - (| )
| | - ‘
: |
% -
& e I ®
D1 " D1 S 5 5 "\ gor
Fig1 Fig2 Fig3 ® | ® ‘J \\
D ©
I 1
MBES g me  BER NRES = MBES g s TRES £
D1 z dm H w T ap Coo?ant z, ’ Insert Stock Designation D ap z L D3 Da Coolant Kg Insert Stock
MF90WN D050.B22.205.08 50 5 22 40 10.4 6.3 7.5 N Fig1 WN..0807.. © MF89SN D040 B16.204.13.C 40 10 4 40 40 16 Y 0.184 S890 SN..1305.. ©
= MF90WN D063.B22.Z06.08 63 6 22 40 10.4 6.3 7.5 N Fig1 WN..0807.. © MF89SN D050 B22.Z204.13.C 50 10 4 40 48 22 Y 0.281 S890 SN..1305.. © =
= MF90WN D080.B27.207.08 80 7 27 50 124 7 7.5 N Fig1 WN..0807.. © MF89SN D063 B22.Z05.13.C 63 10 5 40 48 22 Y 0.385 S890 SN..1305.. ° %ﬁ =
g MF90WN D100.B32.Z08.08 100 8 32 50 14.4 8 7.5 N Fig2 WN..0807.. © MF89SN D080 B27.Z207.13.C 80 10 7 50 60 27 Y 0.74 S890 SN..1305.. © ﬁu g
2 MF90WN D125.B40.Z211.08 125 1 40 63 16.4 9 ) N Fig2 WN..0807.. © MF89SN D100 B32.Z208.13.C 100 10 8 50 70 32 Y 1.267 S890 SN..1305.. © 7] @
ﬁ MF90WN D160.B40.Z212.08 160 12 40 63 16.4 9 7.5 N Fig3 WN..0807.. © MF89SN D125 B40.209.13.C 125 10 9 63 82 40 Y 2.303 S890 SN..1305.. © E ﬁ
] MF90WN D200.B60.Z216.08 200 16 60 63 25.7 14 7.5 N Fig3 WN..0807.. © MF89SN D160 B40.210.13 160 10 10 63 106 40 N 4.282 S890 SN..1305.. © 2
® TR IERIB R R IR, ® T ERIB R R R IRITE,
o IIREHLIHISH, ELE: (& C41 71, o MIFEMIEISE, BESR: (5 C41 7,
® JTHRM: 1 4 MFOOWN D050.B22.205.08. ® JTHURM: 14 MF8ISN D040 B16.204.13.C.
@ Inserts should be ordered separately . ® Inserts should be ordered separately .
® Recommended cutting data please see page C41. ® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF90WN D050.B22.205.08. ® Ordering sample: 1 PC MF89SN D040 B16.204.13.C.
Spare Parts Spare Parts
Insert Clamping screw for insert Allen key for claming screw Insert Clamping screw for insert Allen key for claming screw
WN..0807.. SR20 M4x11.5 KEYO02 T15 S890 SN..1305.. SR26 M4x12.5 KEY02 T15
= R~ EECAN TR IR S8 E = R~ EECAN T RIS
Bl NRES Size Material Cutting parameter Ef TRES Size Material Cutting parameter

Diagram Insert

Diagram Insert

D di S r VC(m/min) ap(mm) fz(mm/rev) d S ap F r ap(mm)  fz(mm/z)
NS QEIFOER Bl EIR 1248 4.6 645 08 o o 120-200 7.5 0.1-0.2 SEEDRCINOREDE GNP ARIE 13 56 9 18 08 e e 5.00-15.00 0.15-0.3
WL QENOER B eyl 1248 46 645 0.8 . 120-200 7.5 0.1-0.2 BEELSI VR ENRIL Sk @Ak 13 56 9 18 0.8 ° 5.00-15.00 0.15-0.3
AN QEIOER A AREN 1248 46 645 0.8 ° 120-200 7.5 0.1-0.2
LWL QELOER EleyZIN 1248 46 645 0.8 o o . 120-200 7.5 0.1-0.2

o ITEETF © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA) o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand '
C1 5 www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) "’ Snrwgfg]é C16




INDEXABLE INSERT FACE MILLING CUTTER vI%&{umt7] INDEXABLE INSERT FACE MILLING CUTTER vJ${iimt7]
MF45SN..1306.. MF45SN..1606..

Kr=89° Kr=45°

m QW . QW
<% EE e V%

4
45°
¥
gl
MBES TIR# NRES 1EFE MBES 2 TRES £
Dc Da d1 L z Kr Kg Insert Stock Designation D D1 z ap L D3 Da Coolant Kg Insert Stock
MF45SN D040.B22.204.13 40 50.4 22 41.2 4 45° 0.3 SN..1306.. © MF45SN D063.B22.205.16.C 63 77.8 5 715 45 60 22 Y 0.727 SN..1606.. ©
= MF45SN D050.B22.204.13 50 60.4 22 41.2 4 45° 0.4 SN..1306.. © MF45SN D080.B27.209.16.C 80 93.1 9 7.15 50 63 27 Y 1.011 SN..1606.. ©
£ MF45SN D063.B22.206.13 63 73.4 22 41.2 6 45° 0.5 SN..1306.. © MF45SN D100.B32.Z207.16.C 100 114.6 7 7.15 50 80 32 Y 1.626 SN..1606.. © %ﬁ ,§
sgal &
g MF45SN D080.B27.207.13 80 90.4 27 51.2 7 45° 1 SN..1306.. © MF45SN D125.B40.208.16.C 125 139.8 8 7.15 63 82 40 Y 2.686 SN..1606.. © ﬁu g
@ MF45SN D100.B32.208.13 100 110.4 82 51.2 8 45° 1.4 SN..1306.. © MF45SN D160.B40.210.16 160 174.8 10 7.15 63 105 40 N 4.16 SN..1606.. © 7] o)
ﬁ MF45SN D125.B40.210.13 125 135.6 40 64.2 10 45° 2.7 SN..1306.. © MF45SN D200.B60.212.16 200 214.8 12 7.15 63 135 60 N 5.847 SN..1606.. © E ﬁ
3 MF45SN D160.B40.212.13 160 170.4 40 63.0 12 45° 3.33 SN..1306.. © MF45SN D250.B60.215.16 250 264.8 15 7.15 63 144 60 N 8.581 SN..1606.. © o
MF45SN D200.860.214.13 200 2104 60 63.0 14 45° 5.78 SN..1306.. ° J—
MF45SN D250.B60.216.13 250 260.4 60 63.0 16 45° 8.08 SN..1306.. © o MIFRENEISE, ESR: (5 C41 T,
® JTHURM: 14 MF45SN D063.822.205.16.C-
® TR ERIBEREME 2T, ® Inserts should be ordered separately .
° MIFEMTIHISE, BSR: (5 C41 T, ® Recommended cutting data please see page C41.
® iTHERfI: 1 MF45SN D040.B22.204.13. ® Ordering sample: 1 PC MF45SN D063.B22.205.16.C.
@ Inserts should be ordered separately .
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF45SN D040.B22.204.13.
Spare Parts Spare Parts
Insert Clamping screw for insert Allen key for claming screw Insert Clamping screw for insert Allen key for claming screw
IR U SR26 Mixi5 KEY02T15 BT UMM SRe0 M4 KEY02T20
= R~ BECHN T4 E LIRS = R~ BRI TR RISt
DEW“ 73{:'-! g::i"? Size dl[lhlﬁétﬂ Material Cutting parameter DWJ 7 f# BS Size Material - Cutting parameter
in i rt
A o= d ap s F r achine ype ap(mm) fz(mm/z) Lty s di S F r ap ap(mm) fz(mm/z)

CIUREN 2P vkl] 13 6 6.2 3 0.5 EZE Heavyduty o e 2.0-6.0 0.20-0.40 SLCAVR YN 8 & AR 16.2 7.63 284 08 7.15 o o 3.00-7.00 0.3-0.5
SIORENG R PAE] 13 6 6.2 3 0.5 B! Heavy duty ° 2.0-6.0 0.15-0.40 ELClURCI7 N8 k] AT 16.2 7.63 2.84 0.8 7.15 ° 3.00-7.00 0.3-0.5

o ITEETF © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA) o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand '
C1 7 www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) "’ Snrwgfg]é C18




z
-
=
=
=)
o
c
=
—
m
o
n

C19

INDEXABLE INSERT FACE MILLING CUTTER vI%&{umt7]

MF450N..0506..

Kr=45°

/
Kr

<

y

Ny

¥

7| |\
AP=3.5mm
MBES TR TRES EEES
MF450N D040.B22.Z204.05 40 50.4 22 40 4 44° 0.32 ON..0506.. ©
MF450N D050.B22.205.05 50 60.4 22 40 5 44° 0.41 ON..0506.. ©
MF450N D063.B22.205.05 63 73.4 22 40 5 44° 0.45 ON..0506.. ©
MF450N D080.B27.206.05 80 90.4 27 50 6 44° 0.89 ON..0506.. ©
MF450N D100.B32.207.05 100 110.4 32 50 7 44° 1.45 ON..0506.. ©
MF450N D125.B40.208.05 125 135.6 40 63 8 44° 2.54 ON..0506.. ©
MF450N D160.B40.212.05 160 170.4 40 63 12 44° 3:33 ON..0506.. ©
® JIFBIRIBR R S IRITE.
o MIFEMETIANTIMISE, E2R: (5 C41 7,
® JTHURG: 15 MF450N D040.B22.204.05.
® Insert should be ordered separately.
® Raoommended cutting data please sea page C41.
® Ordering sarrple: 1 PC MF450N D040.B22.204.05.
Spare Parts
Insert Clamping screw for insert Allen key for claming screw
SR20 M1 KEY02T20
= R~ BRI TR TIH S EtE
1§U I”#gg? Size bﬂI?éﬁE Material Cutting parameter

Diagram

www.sunder-tools.com

Insert

d ap s F r

Machine type

(o] | BN e iWPRLN 13 35 55 5 0.5 Zf Heavyduty o e
O HAENE e AN 13 35 55 5 0.5 EE Heavy duty °

ap(mm) fz(mm/z)
1.5-3.0 0.3-0.4
1.5-3.0 0.3-0.4

o ITEETF

Item in stock

© FIREERF (TR, EHINE)

Item of short delivery time

(please confirm delivery time when ordering it)

o TREfF (1THEBY, iBHIAZHE)
Order on demand

(please confirm delivery time when ordering it)

INDEXABLE INSERT FACE MILLING CUTTER vI%&{iumt7]

MF45SE..12T3..

Kr=45°

by

<

T
45°
N
MEES R TRES £E
MF45SE D050.B22.204.12 50 63 22 40 6.5 4 0.40 SE..12T3.. ©
MF45SE D063.B22.205.12 63 75.9 22 40 6.5 5 0.54 SE..12T3.. ©
MF45SE D080.B27.206.12 80 93.2 27 50 6.5 6 1.08 SE..12T3.. ©
MF45SE D100.B32.206.12 100 113.2 32 50 6.5 6 1.54 SE..12T3.. ©
MF45SE D125.B40.207.12 125 138 40 63 6.5 7 2.67 SE..12T3.. ©
MF45SE D160.B40.207.12 160 173 40 63 6.5 7 4.10 SE..12T3.. ©
MF45SE D200.B60.210.12 200 212.9 60 63 6.5 10 7.70 SE..12T3.. ©
MF45SE D250.B60.213.12 250 262.9 60 63 6.5 13 10.50 SE..12T3.. ©
® T iERIBR R R IRITE.
o MIFEMTIANTYISE, ESR: (5 C41 T,
® JTHURM: 1 MF45SE D050.822.204.12.
® Insert should be ordered separately.
©® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF45SE D050.B22.204.12.
Spare Parts
Insert Clamping screw for insert Allen key for claming screw
SE..12T3.. SR20 M3.5x11 KEY02 T15
o R~ BRI IR IS8
D1§U 7] fﬂ; gg’w_ Size h?u]h:ﬁtgg Material Cutting parameter
. t "
iagram nse s d achine type ap(mm) fz(mmlz)
SEHT 12T3-M9N 2025 4.76 12.7 #E Medium duty ° 2.0-6.0 0.15-0.30
SEMT 12T3-M8P 2230 3.81 127 &I Mediumduty e e 2.0-6.0 0.12-0.20
SEMT 12T73-M8K 2215 3.81 12.7 h#E Medium duty ° 2.0-6.0 0.12-0.20

® IR

Item in stock

© HIRERETE (TTHAY, ERIAZEE)
Item of short delivery time
(please confirm delivery time when ordering it)

o TlEfF (175, 1B

Order on demand

)

(please confirm delivery time when ordering it)

SOTOOL

wEHE/IR

&

A TESE

s
=
=
=z
®
o
c
=
=
m
o]
(1]




INDEXABLE INSERT FACE MILLING CUTTER vI%&{umt7] INDEXABLE INSERT FACE MILLING CUTTER vJ${iimt7]

MF45SET..12T3.. MF45HN..0906..
Kr=45° Kr=45°
; - —=— - ;
1] V%
T
-
45° O . A
7 == —Y ®y
B D |
| f ~ 1
MBES TIR¥ TRES £ g TRES 1EFE
MF45SET D050.B22.204.12 50 63 22 40 6.5 4 0.4 SE..12T3.. © MF45HN D063 B22.206.09 63 5 6 50 22 HN..0906.. ©
- MF45SET D063.B22.205.12 63 75.9 22 40 6.5 5 0.54 SE..12T3.. © MF45HN D080 B22.206.09 80 5 6 50 22 HN..0906.. © =
'E MF45SET D080.B27.206.12 80 93.2 27 50 6.5 6 1.08 SE..12T3.. © MF45HN D100 B32.208.09 100 5 8 63 32 HN..0906.. © %ﬁ 'E
g MF45SET D100.B32.206.12 100 113.2 32 50 6.5 6 1.54 SE..12T3.. © MF45HN D125 B40.210.09 125 5 10 63 40 HN..0906.. © ﬁu g
2 MF45SET D125.B40.207.12 125 138 40 63 6.5 7 2.67 SE..12T3.. © MF45HN D160 B40.212.09 160 5 12 63 40 HN..0906.. © 7] 2
ﬁ MF45SET D160.B40.207.12 160 173 40 63 6.5 7 41 SE..12T3.. © MF45HN D200 B60.212.09 200 & 12 63 60 HN..0906.. © E ﬁ
o o]
n MF45SET D200.B60.210.12 200 212.9 60 63 6.5 10 7.7 SE..12T3.. © o T SERIER AR ST, (1]
MF45SET D250.B60.213.12 250 262.9 60 63 6.5 13 10.5 SE..12T3.. © o MIFEMETNENTYISE, EBRB: (5 C41 7,
® JTHRA: 14 MF45HN D063 B22.206.09.
© JIRIERIBRREMELERIRITIE, ® Insert should be ordered separately.
o MIFEMETIANTIMISE, E2R: (5 C41 7, ® Recommended cutting data please see page C41.
® 5 1 MF45SE D050.822.204.12. ® Ordering sample: 1 PC MF45HN D063 B22.206.09.
® Insert should be ordered separately.
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MF45SE D050.B22.204.12.
Spare Parts Spare Parts
TIRES IR HEEET IR HEIRT P PEY ETTTE TR HREST TR MBIRT
Insert Clamping screw for insert Allen key for claming screw Shim Screw for shim Allen key for shim screw Insert Clamping screw for insert Allen key for claming screw
SE..12T3.. SR20 M3.5x11 KEY02 T15 ST02 S12x0.8 SR28 M5x11 KEYO01 M3.5 HN..0906.. SR26 M4x10 KEY02 T15
= R~ BRI TR PIHI S8 = R~ SRR IS8t
ngu I’FI' BS Size '\ZIJHZhE?étﬁ! Material Cutting parameter DWU 7] fﬂf B Size Material Cutting parameter
i rt achine type [ rt
O os s d newp ap(mm)  fz(mm/z) O o= d s di ap(mm) fz(mm/z)
SEHT 12T3-M9N 2025 . 4.76 12.7 =& Medium duty . 2.0-6.0 0.15-0.30 HNGX 0906ANEN-M7M 2110 16.5 6.35 49 e o o 0.50-5.00 0.05-0.20
SEMT 12T3-M8P 2230 . 3.81 12.7 hE Mediumduty e e 2.0-6.0 0.12-0.20
SEMT 12T3-M8K 2215 . 3.81 12.7 h#E Medium duty . 2.0-6.0 0.12-0.20
® TR © HAREREE (ITHEY, 1EHINKEE) O FRETF (ITHEBY, ERIAREEA) o TRERETF © HAEEE (ITHEY, BHIAEE) O FFETF (ITEERY, ERIAR LA ) ’§®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand " SDTaaL
021 www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) ‘/ EETIE




INDEXABLE INSERT FACE MILLING CUTTER vs&{umst7] INDEXABLE INSERT FACE MILLING CUTTER vIi&{im§t7]
FFSD.. a4 T]62 MFRIL115 aiAz0iE8E7]

Fast Feed Milling Cutter Adjustable Finish Milling Cutter
Kr=115°

. YV%

-
Q @ e
D | 7
SRS [°SE5 4 TRES £ MRS NREES £
D ap z L Da Insert Stock Designation De d1 H z Kr Kg Insert Stock
,§ FFSD D050 B22.204.12 50 2 4 40 22 SDMT 120512 ° MFR/L115 D080.B27.206.13 80 27 63 6 115° 1.5 TXMW 1303.. ° %ﬁ ,§
sgal &
% FFSD D063 B22.205.12 63 2 5 50 22 SDMT 120512 ° MFR/L115 D100.B32.208.13 100 32 63 8 115° 21 TXMW 1303.. ° ﬁu g
e FFSD D080 B27.206.12 80 2 6 50 27 SDMT 120512 © MFR/L115 D125.B40.210.13 125 40 63 10 115° 35 TXMW 1303.. © 7] o)
ﬁ FFSD D100 B32.207.12 100 2 7 50 32 SDMT 120512 © MFR/L115 D160.B40.212.13 160 40 63 12 115° B3 TXMW 1303.. © E ﬁ
2 JR—————— MFR/L115 D200.860.214.13 200 60 63 14 115° 8.1 TXMW 1303.. o 3
. ?HITEMHDEE@WJ%"J%&, BB (5 C41 71, MFR/L115 D250.B60.Z217.13 250 60 63 17 115° 12.2 TXMW 1303.. ©
o TR L NIPRRSD D050 2220412 MFR/L115 D315.860.220.13 315 60 63 20 115° 20.5 TXMW 1303.. o
nsert should be ordered separately.
® Recommended cutting data please see page C41. MFR/L115 D400.B60.Z24.13 400 60 63 24 115° 31.5 TXMW 1303.. ©

® Ordering sample: 1 PC FFSD D050 B22.204.12.
® EECT] BRI R S IRIT.
o MIFREMKITIANTHISHK, H2R: (5 C41 T,
® NATIRTREAT IR ER.
® iTH3RMGI: 1 4 MFR 115 D080.B27.206.13.
® Insert with different materials should be ordered separately.
® Recommended cutting data please see page C41.
® The cutting depth should not be larger than the round of insert.
® Ordering sample: 1 PC MFR 115 D080.B27.Z06.13.

&
Spare Parts %#F

TR SRR TR AT spare Pars
Insert Clamping screw for insert

Allen key for claming screw

SDMT 120512 SR26 M4x11 KEY02 T15 iR e nEE TR BURERET fRiC\$H TIESHIREET  TIAMRIRF EEIRE TIEEREERF
SDMT 120512 SR26 M4x11 KEY02 T15 D e o Cartrid Clamping screw Adjusting blot/ Clamping screw Allen key for clamping T neE Adjusting wrench for
X 9 Eli e for insert eccentric pin for cartridge screw ! 9 catridge
SDMT 120512 SR26 Max1 KEY02T15 MFR/L115.. MR/L115 SR20 M2.5x6 FT70 D8x12.5 SR55 M6x20 KEY02 T8 KEY01 M4 KEY01 M5
SDMT 120512 SR26 M4x11 KEY02 T15
o R~ BRI IR IS8 R~ ERI IR IR S8 E
DWJ Df# B Size Material Cutting parameter E 1 Size Material g Cutting parameter
. it DI
S o= d S R ap(mm) f(mm/z) Lty | r a S d di ap(mm) fz(mm/z)
SDMT 120512-M5G 2230 12.7 5.56 1.2 e o o 0.50-2.00 0.50-1.50 D UVREDENEE [ @rAEl 11 04 11 3.18 6.35 3.4 ° 1.0-3.00 0.1-0.2
SDMT 120512-M5G 2240 12.7 5.56 1.2 . 0.50-2.00 0.50-1.50
® TR © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA) o TRERETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) ’§®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand " SDTaaL
www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) ‘/ EETIE




INDEXABLE INSERT FACE MILLING CUTTER nl%{um$t)] INDEXABLE INSERT FACE MILLING CUTTER nl%{:im%7]
MM90SD.. 1204 [Bfe @ik E Kk T] MM90SD..1204 [BfE iR EXET]

Dampening Helical Milling Cutter Dampening Helical Milling Cutter

—_— Y 1 [ b =
MM90SD RFIERskTIREiEA
Y N g Ny NV I Assembly Instructions for Helical Milling Cutter
FED NS RN 1 s
i Y
e ERRLTHARER SRR, FEEAEIMAE,
L REEHARSHE,
Please follow the below instructions for assembling and
disassembling the helical milling cutter. Then connect the tool
to with the arbor and mount the cooling plug once again.
MgES TRES £E
MM90SD D063.B27.224-04.12 63 57 4 24 85 58 27 SD..1204.. ©
MM90SD D063.B27.240-04.12 63 94 4 40 124 58 27 SD..1204.. ©
3 .
é MM90SD D080.B32.235-05.12 80 65 5 35 95 74 32 SD..1204.. © MM90SD D063.B27.240-04.12 égﬂéﬁu * %ﬁ é
= MM90SD D080.B32.Z260-05.12 80 110 5 60 143 74 32 SD..1204.. © oA INFRUEE S T NA 2 \ =hpe I\ [EoyRuN ﬁu =
mTEEE HZERY, W NEE U TFIRANETANERUE, Ik e fi N RYE i
g MMO0SD D100.B40 245.06.12 100 7 . 45 106 o " oD, 1204 . EERLTRLANEN, NHEMLNBEMATLMNETANERME, LALLM MMBEREARERENL,; 7
3 MM90SD D100.840.284-06.12 [RIY 133 6 84 165 94 40 SD..1204.. o = WNRSEFRIN THA IR NT TIRNRATIRE, AIERSMANET SR50 M3 IRETFRESENFL, LUHRIIALFRM ==
Pl bl
2 o TIF EIRIER R S 1RIT0. NaFroi=] A - &
o MIFRHHDASTHIBH, HER: O 041 7, TRRGEZIRE;
ITHERBI: 1 4 MM9OOSD D063.B27.224-04.12. S L == N
: Ilnser;rshould be ordered separately. u E%ﬁigléiﬂ%&%ﬁlgﬂg%]-%ﬁﬁa\?%mlﬁiEI{J;H.%E?T'%%O
® Recommended cutting data please see page C41.
® Ordering sample: 1 PC MM90SD D063.B27.224-04.12.
Example of assembly:
I Please be sure the lock washer is at the right position which is under the cooling plug when you mount the cooling plug once
again. If everything is correct, there will be little oil release for fixing the lock washer.
B Please order the screw SR50 M3 separately for pluging up the cooling hole if the axial cutting depth is smaller than the max
cutting depth. In that case the tool can be cooled best when machining.
W Please follow the recommended torque in below table for locking the screw when you mount the cooling plug once again.
DH-16.6X10.3 —
SR M30X1.L90 B AR 2
it a e €
I=e Anti-loosening washer
Spare Parts Cooling plug \ _ :
FRES NREES T1 R PR BT TR ERF SEIRF R BENE Y
Designation Insertt Clamping screw for insert  Allen key for claming screw Wrench head Cooling plug \
MM90SD D063.B27.Z224-04.12 SD..1204.. SR21 M4x11.7 KEY30 S4-T BLD T20/S4-L SR M30.L53-X . ————m=a nf
MM90SD D063.B27.Z240-04.12 SD..1204.. SR21 M4x11.7 KEY30 S4-T BLD T20/S4-L SR M30.L90-X Q
MM90SD D080.B32.235-05.12 SD..1204.. SR21 M4x11.7 KEY30 S4-T BLD T20/S4-L SR M42.L57-X
MM90SD D080.B32.260-05.12 SD..1204.. SR21 M4x11.7 KEY30 S4-T BLD T20/S4-L SR M42.L105-X S
MM90SD D100.B40.Z248-06.12 SD..1204.. SR21 M4x11.7 KEY30 S4-T BLD T20/S4-L SR M52.L66-X “\
MM90SD D100.B40.Z284-06.12 SD..1204.. SR21 M4x11.7 KEY30 S4-T BLD T20/S4-L SR M52.L125-X “\
SR55 M12X30 MM90SD D063.B27.40-04.12
SHReBET Tk
locking screw Main body
R~ BRI IR PULIES ¢ 2 3 :
Efl Size Material Cutting parameter e o fgigfsTBﬂ?ﬂfﬁfﬁ N,\?] A A
Diagram - - Mg E S FRIRET orqueloimountnglecrewiim REIE RIS HNEAAIEE Nm
| di S r VC(mImln) ap(mm) fz(mmlz) Designation Locking screw IE-‘%’-%{Q: E%%ﬁ: Cooling plug Torque of mounting lock washer Nm
bl PIZ AR WX LI 127 127 4.75 1.2 ° . 50-200 1-11.5 0.08-0.3 Common condition ough condition
Sl W PIZAVE VI 12.7 127 4.75 12 o ° 100-300 1-11.5 0.08-0.3 MM90SD D063.B27.Z224-04.12 SR55 M12x30 80 100 SR M30.L53-X 34
MM90SD D063.B27.Z240-04.12 SR55 M12x30 80 100 SR M30.L90-X 34
MM90SD D080.B32.Z235-05.12 SR55 M16x40 110 150 SR M42.L57-X 61
MM90SD D080.B32.260-05.12 SR55 M16x40 110 150 SR M42.L105-X 61
MM90SD D100.B32.Z248-06.12 SR55 M20x50 120 180 SR M52.L66-X 61
MM90SD D100.B32.284-06.12 SR55 M20x50 120 180 SR M52.L125-X 61

o ITEETF © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA) o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand '
C25 www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) "’ snrwgfgjé 026




=E71%7]
Side and Face Milling Cutter

AETCZETIEETT oo c29
Adjustable Side and Face Milling Cutter

SIDE AND FACE NS

LN11 Side And Face Milling Cutter

MILLING CUTTER (NSZERED.

LN15 Side And Face Milling Cutter

A& B T]

?g}j Indexable Insert Chamfer Cutter

2 7]

2 R E AL 1=y c34
Chamfering Cutter With Long Cutting Edge
a2l =< ]y TSR c35
Chamfer Cutter With Cylindrical Shank
Ee W )= TSRS C36

Face Chamfering Cutter

AliE iR EiEsR 70
API Ring Grooving Cutter

BIATIRIEIEHETT - ovoveevreeeeeeeeeee et c37
API Ring Grooving Cutter

BT TCIREIFEGETI TIIEE ocveeeeeeeeee e C38
The Cartridges For Adjustable API Ring Groover

IS AVATREGETITIEE .ot C39
Simple Adjustable Cartridge

AR B EE TR oo C40

The Instrution Manual For API Ring Groover

RAZEH

Technical Information

B R BB e s C41

Technical Information

&

soTooL [

www.sunder-tools.com
Cc27 BENETS




SIDE AND FACE MILLING CUTTER =m7]%7]
LN11 =E71%:7]

LN11 Side and Face Milling Cutter

SIDE AND FACE MILLING CUTTER =m7]%7]
iR =HE70#%7

Adjustable Side and Face Milling Cutter

B EimEAERQEENTIE, JEEARIAIEE, BEEESE; JERKEMSE; mErmRJEER ©0200-0500, BE ©500 LA EIFRES .
It is with cartridge with different inserts; It can mill the surface and groove; the diameter of standard milling cutter $200-#500mm,

and it should be customized if the diameter is larger than ®500mm.

&

Z %
S < i W
Rt T T

z MBES T PN) £ MBES TRES & S
e - o 28 d d1 - z Kg Cartridge Stock Designation v - g¢ d d1 . z Kg Insert Stock ?ilt r
3 MSSB D200.B40.W28.212.15 200 28 60 40 80 25 2x6 4.8 © MSSB D080.B27.H18.Z206.LN11 80 18 20 27 40 16 2x3 0.75 LN..1106.. © ﬁ'l 3
g MSSB D250.B50.W28.214.15 250 28 75 50 100 25 2x7 7.8 MSR 905 o MSSB D100.B27.H18.Z08.LN11 100 18 30 27 40 16 2x4 1.13 LN..1106.. © 7] §
ﬁ MSSB D315.B50.W30.216.15 315 30 107 50 100 27 2x8 1.4 MSL 905 © MSSB D125.B32.H18.Z210.LN11 125 18 39 32 46 16 2x5 1.67 LN..1106.. © E ﬁ
@ MSSB D400.B50.W30.Z220.15 400 30 150 50 100 27 2x10 19.3 © MSSB D160.B40.H18.Z12.LN11 160 18 50 40 60 16 2x6 2.82 LN..1106.. © @
MSSB D500.B50.W30.224.15 500 30 200 50 100 27 2x12 29.2 © MSSB D200.B50.H18.Z14.LN11 200 18 55 50 90 16 2x7 4.50 LN..1106.. ©
MSSB D200.840.W28.212.16 200 28 60 40 80 25 2x6 4.8 0 [ —————
MSSB D250.B50.W28.214.16 250 28 73 50 100 25 2x7 7.8 MSR 902 © © MIFEMHIRMIMBE, FER: 5 C31 T,
MSSB D315.850.W30.216.16 315 30 107 50 100 27 %8 114 MSL 902 o o TR 1T MSSE D080 827 18,206 N1
nsert with different materials should be ordered separately.
MSSB D400.B50.W30.220.16 400 30 150 50 100 27 2x10 19.3 © ® Recommended cutting data please see page C31.
MSSB D500.B50.W30.224.16 500 30 200 50 100 27 2x12 29.2 © © Ordering sample: 1 PC MSSB D080.B27.H18.206.LN11.
o ERBHEMAALLE.
® J]FiBIRIBREIM A RIRITIE,
o MIREMETIANTIMISE, B8R (5 C31 7,
® SHERIERIEREIE SRR TIHI .
® JTHURG: 14 MSSB D200.B40.W28.212.15.
® Please use the coolant oil as far as possible.
® Insert with different materials should be ordered separately.
® Recommended cutting data please see page C31 71 . %1#
® Please choose the samller cutting parameter when machining groove.
® Ordering sample: 1 PC MSSB D200.B40.W28.212.15. Spare Parts
= = TRES TIRSIRIRET EIRF
ﬂ@ﬁ'—_? HH—EI:? )J)#!L?%T . H%ﬁ%}ﬁ# Clamping screw for insert Allen key for claming screw
Spare parts Designation Insert Clamping screw for insert Allken key for clamping screw
TIEE Cartridge MSRIL 902 AP..1604.. SR20 Mdx11.5 KEY02T15 SIS IGSH Rl S LD
JIEE Cartridge MSR/L 905 AD..1505.. SR20 M4x11.5 KEY02 T15
BEMER Lock wedge XKM6-01 - - -
HHEZIRHE Locek bolt SR58 M6x21 - - KEY01 M3
= R~ BRI TR PIHIS8HE = R~ IEER I T B TIRISHEE
DEIW'J nﬁ%? Size ’\zlm:hl:;%ﬂ Material Cutting parameter Dﬁu Df#iu"? Size Iviljl]:hl:aégg Material Cutting parameter
. . t
iagram nse = E | achine type ap(mm) fz(mmiz) iagram nse w | s = achine type ap(mm) fz(mmiz)
ous APKT 1604TR-R4P 2235 0.8 1.8 17.3 ZEZ! Heavyduty e 6.00-14 0.1-0.2 LNKX 1106T-R4P 2230 6 11.16 11 0.8 EFA Heavy duty o o 1.5-5.0 0.17-0.25
‘ | APKT 1604TL-M8P 2125 0.8 1.7 17.7 #HE Mediumduty o e e 6.00-14 0.08-0.15 LNKX 1106T-R4K 2215 6 11.16 11 0.8 th# Medium duty ° 1.5-5.0 0.15-0.20
?g%l ’ APKT 1604TR-M8K 2215 0.8 1.7 17.92 & Medium duty ° 6.00-14 0.08-0.15 LNAR 1106F-M8N 2020 6 1116 11 0.8 1280 | ight duty ° 1.5-5.0 0.15-0.20
& N
I\ a| 57 e
=S
SLELVN G R ENER 8 TG PEER 0.8 2.16 16.18 H1E) Medium duty ° 5.0-12.0 0.08-0.15 NV RIS EIe AL 597 11.16 11 0.8 A Medium duty ° 2-10" 0.15-0.25
LRI LGP gD B kT 0.8 2.16 16.18 H1EY Medium duty e 5.0-12.0 0.08-0.15 (YR 8 LR PR LN 597 11.16 11 0.8 A Medium duty ° o 2-10" 0.15-0.25
ADKT 1505TL-M8P 2125 0.8 1.6 15.7 =& Medium duty e ° 5.0-12.0 0.07-0.15 (IR E@PAEREN 597 11.16 11 0.8 A Medium duty ° 2-10" 0.15-0.25
(NI R ETEPPEL N 507 11.16 11 0.8 A Medium duty ° o 2-102 0.15-0.25

o ()W EFIIR

® Insert for left handease use the coolant oil as far as possible.

Cc29 www.sunder-tools.com

® IR

Item in stock

© HATAERETE (TR, ERIAREH)
Item of short delivery time
(please confirm delivery time when ordering it)

o TREfF (1THEBY, iBHIAZHE)
Order on demand
(please confirm delivery time when ordering it)

o (1) INITEMMBT, RAYIR 8mm, INTHHT, RAYVIE 10mm
® (2) TIAE 4 MEFYINIT
® ) NABFWNEFNT, WNEFIHT

® IR

Item in stock

© HIRERETE (TTHAY, ERIAZEE)
Item of short delivery time
(please confirm delivery time when ordering it)

® (1) Maximum cutting depth is 8mm for steel and 10mm for cast iron.
® (2) There are 4 right hand cutting edges.
® (3) There are 2 right hand cutting edges and 2 left hand cutting edges.

o TREfF (1THEBY, iBHIAZCHHEA )
Order on demand
(please confirm delivery time when ordering it)

&

SOTOOL

wEHE/IR




=
]
c
z
@
()
c
5
=
m
el
")

SIDE AND FACE MILLING CUTTER =m7]%7]
LN11 =mE71$%:7]

LN11 Side and Face Milling Cutter

ae

W

D
| L=t 1=
MRS D DI d H L ae z Kg ZHES  EHE
esignation Insert Stock
MSSB D080.SEM22.H18.206.LN11 80 48 22 18 50 16 2x3 0.89 LN..1106.. ©
MSSB D100.SEM22.H18.Z08.LN11 100 48 22 18 50 26 2x4 1.88 LN..1106.. ©
MSSB D125.SEM27.H18.210.LN11 125 60 27 18 63 82 2x5 2.22 LN..1106.. ©
MSSB D160.SEM32.H18.212.LN11 160 78 32 18 63 41 2x6 3.82 LN..1106.. ©
MSSB D200.SEM40.H18.Z14.LN11 200 89 40 18 63 & 2x7 5.83 LN..1106.. ©
® J]FiBIRIBREIM L RIRITIE,
® IMITREMETIANTIHISH, BESE: C31 17,
® JTHRG: 1 MSSB D080.SEM22.H24.206.LN11.
@ Insert should be ordered separately.
©® Recommended cutting date please see page C31.
® Ordering sample: 1 PC MSSB D080.SEM22.H24.Z06.LN11.
Spare Parts
RES TIAHRIRET EIRF
Insert Clamping screw for insert Allen key for claming screw
LN..1106.. SR20 M3.5x11.5 KEY02 T10
= R~ IEER I T4 PRI S8
DWJ Dﬁ'%? Size &Jﬂhlﬁétﬂ Material ~ Cutting parameter
iagram nse w I s = achine type ap(mm) fz(mmiz)
LNKX 1106 T-R4P 2230 6 11.16 11 0.8 EFA Heavy duty e o 1.5-5.0 0.17-0.25
LNKX 1106T-R4K 2215 6 11.16 11 0.8 A Medium duty ° 1.5-5.0 0.15-0.20
LNAR 1106F-M8N 2020 6 11.16 11 0.8 128 |ight duty . 1.5-5.0 0.15-0.20
(IR S T E AR 597 11.16 11 0.8 h# Medium duty ° 2-10" 0.15-0.25
N 8L PRLRN 507 11.16 11 0.8 h#) Medium duty o o 2-10" 0.15-0.25
(NI R EIETE @ PIEREN 597 11.16 11 0.8 h# Medium duty ° 2100 0.15-0.25
(NI R ET PRI 507 11.16 11 0.8 chE) Medium duty ° o 2-10 0.15-0.25

® (1) INTMMBT, RALER 8mm, INITEHHT, RAYVIR 10mm
® (2) TIHE 4 MEFINIT
® ) NABWMNEFIHT, WANEFIHT

www.sunder-tools.com

® IR © FIREERF (TR, EHINE)

Item in stock Item of short delivery time

® (1) Maximum cutting depth is 8mm for steel and 10mm for cast iron.
® (2) There are 4 right hand cutting edges.
® (3) There are 2 right hand cutting edges and 2 left hand cutting edges.

(please confirm delivery time when ordering it)

o TREfF (1THEBY, iBHIAZHE)
Order on demand
(please confirm delivery time when ordering it)

SIDE AND FACE MILLING CUTTER =m7]%7]

LN15 =mE71%t7]

LN15 Side and Face Milling Cutter

D
ae . d1
‘ d
e
|
® ) @ =
® L
MERS NRES £
MSSB D080.B27.H24.Z06.LN15 80 24 20 27 40 21.8 2x3 0.64 LN..1506.. ©
MSSB D100.B27.H24.Z08.LN15 100 24 30 27 40 21.8 2x4 1.03 LN..1506.. ©
MSSB D125.B32.H24.Z10.LN15 125 24 39 32 46 21.8 2x5 1.57 LN..1506.. ©
MSSB D160.B40.H24.Z12.LN15 160 24 50 40 60 21.8 2x6 272 LN..1506.. ©
MSSB D200.B50.H24.Z14.LN15 200 24 55 50 90 21.8 2x7 4.32 LN..1506.. ©
© T BIRIBR R R R IRITE,
o MIREMETIANTIMISE, B8 (5 C31 7,
® JTHURA: 1 MSSB D080.B27.H24.Z06.LN15.
@ Insert with different materials should be ordered separately.
® Recommended cutting data please see page C31.
® Ordering sample: 1 PC MSSB D080.B27.H24.Z06.LN15.
Spare Parts
Insert Clamping screw for insert Allen key for claming screw
LN..1506.. SR20 M4x11.5 KEY02 T15
= R~ BRI T TIRISHHE
I§I1§U 7])#32"5 Size 7JDI§§! Material Cutting parameter
Diagram Insert Machine type
| S r ap(mm) fz(mm/z)
LNKX 1506 T-M8K 2215 15 139 0.8 F#E Medium duty ° 2.0-7.0 0.20-0.30
LNKX 1506T-R4P 2235 15 139 0.8 E 7 Heavy duty ° o 2.0-7.0 0.30-0.40
LNAR 1506F-M8N 2020 15 139 0.8 128 Light duty ° 2.0-7.0 0.10-0.15
15 139 08 FE Medium duty ° 3-12 0.15-0.25
15 139 038 FhE Medium duty o o 3-12 0.15-0.25
15 139 0.8 thE Medium duty . 3-120 0.15-0.25
3-120 0.15-0.25
® (1) NI, |AYIR 8mm, MIFHET, RALR 10mm ® (1) Maximum cutting depth is 8mm for steel and 10mm for cast iron.
® (2)TIRB 4 NEFHIT ® (2) There are 4 right hand cutting edges.
® 3) TIREFHRNMEFIHT, WIMEFIIHIT] ® (3) There are 2 right hand cutting edges and 2 left hand cutting edges.
o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "‘®
Item in stock Item of short delivery time Order on demand
omnsiod (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) "’ Snrwgfg]é

A TESE

=
=
=
=z
@
o
c
5
=
m
]
(1]




=
]
c
z
@
()
c
5
=
m
el
")

SIDE AND FACE MILLING CUTTER =m7]%7]

LN15 =mE71$%7]

LN15 Side and Face Milling Cutter

&

W

ae
-
0 T
D
MEES TRES 1=
MSSB D080.SEM22.H24.206.LN15 80 48 22 24 50 16 2x3 0.79 LN..1506.. ©
MSSB D100.SEM22.H24.Z208.LN15 100 48 22 24 50 26 2x4 1.78 LN..1506.. ©
MSSB D125.SEM27.H24.Z10.LN15 125 60 27 24 63 32 2x5 212 LN..1506.. ©
MSSB D160.SEM32.H24.Z12.LN15 160 78 32 24 63 41 2x6 3.72 LN..1506.. ©
MSSB D200.SEM40.H24.Z14.LN15 200 89 40 24 63 55 2x7 5.65 LN..1506.. ©
® JIHIBIRIBRREIM KIS IRIT,
® JTHURMG): 14 MSSB D080.SEM22.H24.206.LN15.
® Insert should be ordered separately.
® Ordering sample: 1 PC MSSB D080.SEM22.H24.Z06.LN15.
Spare Parts
TIAHRIRET BEIRF
Clamping screw for insert Allen key for claming screw
SR20 M4x11.5 KEY02 T15
= R~ BECANIM R RISt
D@ﬁ“ BFI' Bs Size ’\zlm-;':gstgg Material Cutting parameter
i rt achine type
g f1S€ w | S r e ap(mm) fz(mm/z)
e QEIIEE @VAEE 6 15 139 0.8 F#) Medium duty ° 2.0-7.0 0.2-0.3
LNKX 1506 T-R4P 2235 N EENI- 139 038 A Heavy duty o o 2.0-7.0 0.3-0.4
GEEDER RN PR 6 15 139 0.8 123 Light duty . 2.0-7.0 0.1-0.15
= R~ ERemn IR RIS
DWJ 7]{# 32"5 Size I\ijujh:;’étﬂ Material Cutting parameter
i rt achine type
S o= W I S r newp ap(mm) fz(mm/z)
BN EEGEE@PEEEN 6 15 13.9 0.8 1 Medium duty . 3-121 0.15-0.25
I PGP EER 6 15 13.9 08 FhE Mediumduty e e 3-120 0.15-0.25
I’D | LNMT 1506T-M8K 2215® 6 15 139 08 =& Medium duty ° 3-121 0.15-0.25
® (1) INTMHBY, RATLR 8mm, INTHHE, RAYLER 10mm ® (1) Maximum cutting depth is 8mm for steel and 10mm for cast iron.
® (2) TIAH 4 MEFIIHIT) ® (2) There are 4 right hand cutting edges.
® (3) IRAEMNMEFIIHIT, FIMEFIIHIT ® (3) There are 2 right hand cutting edges and 2 left hand cutting edges.
® TREETF © HAREEE (ITHEY, 1EHINKE) O FRETF (ITHEBY, ERIAREEA)
Item in stock Item of short delivery time Order on demand

www.sunder-tools.com

(please confirm delivery time when ordering it)

(please confirm delivery time when ordering it)

CHAMFERING MILLING CUTTER vlIi&fiuffifa7]

KEIATD

Chamfering Cutter with Long Cutting Edge

i =
MERS A Da Dc D d X1 X2 Lc PE#® g TAES EE
esignation z Insert Stock
ME30XE D034.W32.201.31.130 30° 34 5 40 32 50 130 255 1 0.68 XCET 2204.. .
ME45XE D046.W32.202.31.130 45° 46 5 56 32 50 130 20.5 2 0.72 XCET 2204.. .
ME60XE D055.W32.202.31.130 60° 55 5 72 32 50 130 14.5 2 0.75 XCET 2204.. .
® TIFIERIBREIMESIRITH .
® ITHRMI: 1 MESOXE D034.W32.201.31.130.
@ Insert should be ordered separately .
® Ordering sample: 1 PC ME30XE D034.W32.Z01.31.130.
Spare Parts
Insert Clamping screw for insert Allen key for claming screw
XCET 2204.. SR21 M5x12.8 KEY02 T20
R~ BRI TH R PRI S8 E
EW'J Size 7J[II§§2 Material Cutting parameter
Diagram Machine type
Il s r ap(mm) fz(mm/z)
V(IS PPILIEA RPN 22 45 0.4 HE Mediumduty e e e e o e 2.00-20.0 0.12-0.15

o TREfF (1THEBY, iBHIAZCHHEA )
Order on demand
(please confirm delivery time when ordering it)

® IR

Item in stock

© HIRERETE (TTHAY, ERINZEE)
Item of short delivery time
(please confirm delivery time when ordering it)

SOTOOL

wEHEIR

&

A TESE

=
=
=
=z
@
o
c
5
=
m
]
(1]




CHAMFERING MILLING CUTTER viIi&fiuffifa7] CHAMFERING MILLING CUTTER vI{iffa7]
BRI 2EIRT

Chamfer Cutter with Cylindrical Shank Face Chamfering Cutter

I X2 ] \
[ § :
88 \ s
e R =h =
®
” @®
A \/
. Lc
Fig B AT
M = 1| = | =2 =
MERS A Dc Da d x1 x2 Lc PH® g kg AES HEE ARRS A Dc Da d d X Lo H® kg TIKES T
esignation z Insert Stock Designation z Insert Stock
ME30SC D012.W16.201.12.100 30° 12 32 16 50 98 7 1 B 0.17 SC..1204.. . MF45SC D040.B16.203.12.40 45° 40 56 16 38 40 7 3 0.26 SC..1204.. .
= ME30SC D028.W32.202.12.120 30° 28 48 32 60 120 7 2 B 0.70 SC..1204.. ° MF45SC D050.B22.204.12.40 45° 50 66 22 48 40 7 4 0.37 SC..1204.. . =
= ME45SD D006.W16.201.09.90 45° 6 16 16 40 90 6 1 B 0.12 SD..0903.. . MF45SC D063.B27.204.12.50 45° 63 79 27 60 50 7 4 0.75 SC..1204.. ° %ﬁ [=
g ME45SD D012.W16.201.09.100 45° 12 23 16 52 100 6 1 A 0.12 SD..0903.. . MF45SC D080.B32.205.12.50 45° 80 96 32 78 50 7 5 1.17 SC..1204.. . ﬁu g
2 ME45SD D020.W20.202.09.100 45° 20 31 20 50 100 6 2 A 0.23 SD..0903.. . MF45SC D100.B40.206.12.60 45° 100 116 40 89 60 7 6 1.93 SC..1204.. . 7] @
= o =]
3 ME45SC D028.W32.202.12.120 [ 28 4 32 60 120 7 2 A 064  SC.1204.. . [ — ==
] ME60SC D012.W16.201.12.100 60° 1 22 16 52 100 9 1 B 0.18 SC..1204.. ° © STEURA): 1 £ MF45SC D040.B16.203.12.40. &
o @ Insert should be ordered separately.
ME60SC D020.W20.201.12.100 60 20 31 20 50 100 9 1 B 0.32 SC..1204.. . e Ordering sample: 1 PC MF45SC D040.816.203.12.40.
ME60SC D028.W32.202.12.120 60° 28 39 32 60 120 9 2 B 0.77 SC..1204.. .
® T iBIRIBR R R S IRITE,
® TEURMAI: 1 ME30SC D012.W16.201.12.100.
® Insert should be ordered separately.
® Ordering sample: 1 PC ME30SC D012.W16.201.12.100.
Spare Parts Spare Parts
TIF HEABET MERT TIR SHREET HEIRF
Clamping screw for insert Allen key for claming screw Insert Clamping screw for insert Allen key for claming screw
SR21 M5x12.8 KEYO02 T20 SC..1204.. SR21 M5x12.8 KEYO02 T20
SR20 M4x7.8 KEY02 T15
o R~ BN AR PIRISHE
D@ﬁu 73{# ﬁ"? Size lem-;l:astgg Material Cutting parameter
i rt
iagram nse I s d achine type ap(mm) fz(mmiz)
S RENERE R PIPAN 5.6 3.18 9.53 Fh#E) Medium duty ° 5.0-12.0 0.08-0.15
SRRl R P PEE 5.6 3.18  9.53 AU Mediumduty e e e 5.0-12.0 0.08-0.15
R~ BRI T4 TIRIS & , R~ BRI T4 TIRISHE
Size Material Cutting parameter D@ﬁJ Size Material Cutting parameter
I r s di VC(m/min) ap(mm) f(mmirev) gt I r s di VC(m/min) ap(mm) f(mmirev)
Sl TN PIZOER VIR RGN 127 08 476 55 e 200-300 0.5-2.5 0.1-0.30 Sl A PIZOER VIR RGN 127 08 476 55 e 200-300 0.5-2.5 0.1-0.30
SCMT 120408-M2M 2210 b4 0.8 4.76 5.5 . 200-300 0.5-2.5 0.1-0.30 D SCMT 120408-M2M 2210 b4 0.8 4.76 5.5 ° 200-300 0.5-2.5 0.1-0.30
SCMT 120408-M2K 1115 V¢ 0.8 4.76 15| ° 200-300 0.5-2.5 0.1-0.30 - SCMT 120408-M2K 1115 V¢ 0.8 4.76 6.5 . 200-300 0.5-2.5 0.1-0.30
Slelc e PIZOER PP 127 08 4.76 55 . 200-300 0.5-3.0 0.15-0.30 Sl PIZOEER PP 127 08 476 55 . 200-300 0.5-3.0 0.15-0.30
o ITEETF © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA) o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand " SDTaaL
C35 www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) " EETIE C36




API RING GROOVING CUTTER vwig\ixmEt&5t7]
E T IREE ST

API Ring Grooving Cutter

EREIREE T IR EMREED R R, FESEFNTITIZEE, RITH—TR. SMERITHEBRBES Zh—immiEsT] . BEHE, ThRMS,
FLHIENE, HIBRESIEER 0.01mm, FEREES $i5=, Bkl IMRTIE,

For API ring groove machining both rough and finish. Inside cartridge and outside cartridge can be adjusted separately with 0.01mm on diameter per scale,
wide diameter range, high accuracy and easy operating.

API RING GROOVING CUTTER vwiRz\ixmEt&5t7]
oA iR 7] T B

The Cartridges for Adjustable API Ring Groover
ERaRXIREEDRMESIE, TRAE, BEEW. RBE, WIMRTIE—IIR,

It is suitable for any size of main body, and it can be assembled freely and stably. The ID and OD are one-to-one correspondence and with different inserts.

_
% . L
7 e
D2 2 ic
o — L
D1 / } ®
7/
_
% n T g R :
Application profile X
= %96 =
= - . s . z [=] Al Al C
= GRS HEPEEE ¢ SEERAE TIEE ERRIMETIEE kg TE L H n JIBES 1B SHRIRET HERF kg TE e
5] Designation P value ID cartridge OD cartridge Stock Insert Clamping screw for insert Allen key for clamping screw Stock ®
g BT40 MSD215x100 45-114 140 <18 L23N P43-112.H18.VC16 L23W P47-116.H18.VC16 8.21 (] L23N P43-112.H 655 40 185 VCMT 160408 SR21 M4x11 KEY02 T15 0.19 © D g
ﬁ BT40 MSD215x100 106-138 140 <18 L23N P104-136.H18.vC16  L23W P108-140.H18.VC16 8.21 o L23N P104-136.H18.VC16 48 40 185  VCMT 160408 SR21 M4x11 KEY02 T15 0.26 E ﬁ
@ BT40 MSD215x100 129-227 140 <18 L23N P127-225.H18.VC16  L23W P131-229.H18.VC16 8.21 ° L23N P127-225.H18.VC16 625 40 185 VCMT 160408 SR21 M4x11 KEY02 T15 0.20 © @
BT50 MSD215x140 45-114 180 <18 L23N P43-112.H18.VC16 L23W P47-116.H18.VC16 12.61 ° L23W P47-116.H18.VC16 63.5 40 185 VCMT 160408 SR21 M4x11 KEY02 T15 0.19 ©
BT50 MSD215x140 106-138 180 <18 L23N P104-136.H18.VvC16  L23W P108-140.H18.VC16 12.61 (] L23W P108-140.H18.VC16 46 40 185 VCMT 160408 SR21 M4x11 KEY02 T15 0.26 ©
BT50 MSD215x140 129-227 180 <18 L23N P127-225.H18.VC16 L23W P131-229.H18.VC16 12.61 ° L23W P131-229.H18.VC16 64.5 40 185 VCMT 160408 SR21 M4x11 KEY02 T15 0.20 ©
DIN69871 50 MSD215x140 45-114 180 <18 L23N P43-112.H18.VC16  L23W P47-116.H18.VC16 12.31 . S ————
DIN69871 50 MSD215x140 106-138 180 <18 L23N P104-136.H18.vC16  L23W P108-140.H18.VC16 12.31 (] ® BRI 144 L23N P43-112.H18.VC16.
® Insert with different materials should be ordered separately.
DIN69871 50 MSD215x140 129-227 180 <18 L23NP127-225H18.VC16  L23W P131-229H18.VC16 1231 . @ Ordering sample: 1 PC L23N P43-112 H18 VC16.
o EETIEREIRITH, ESR: (5 C28 T,
® IIRALECRITIE, TRHHUARX R TIRANERITHITIE.
® JTHURG: 1+ BT50 MSD215x140.
® The suitable cartridge should be ordered separately, please see page C28.
® If you want main body with other sizes, please advise the specification of machine tool so that we could manufacture the customer designed tools.
® Ordering sample: 1 PC BT50 MSD215x140.
o R~ BRI TR YIRS e
DWU ﬂf:ll' g::i"? Size Material Cutting parameter
SO o= | d S r VC(m/min) ap(mm) f(mm/rev)

(o AR CIZOER TPIPA VIl 16.6 9.525 4.76 0.8 e 120-280 1.00-3.50 0.15-0.40
VA R CIZOER TP TR PPEY 16.6 9.525 4.76 0.8 ° 80-180 0.50-2.50 0.08-0.30
\( R CIEDER TP VKBl 16.6 9.525 4.76 0.8 ° 150-350  0.50-2.50 0.08-0.30

o ITEETF © HATAERETE (TR, ERIAREH) O FRETF (ITHEBY, ERIAREEA) o ITEEFETF © HIRERETE (TTHAY, ERIAZEE) O FFETF (ITEERY, ERIAR LA ) "®
Item in stock Item of short delivery time Order on demand Item in stock Item of short delivery time Order on demand '
C37 www.sunder-tools.com (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) (please confirm delivery time when ordering it) "’ Snrmgfg]é




API RING GROOVING CUTTER vwig\ixmEt&5t7]

1215 FLiE TR HE T T BE

Simple Adjustable Cartridge

ERCHEEDARRFIIRE, TE5E.

TIEER S THEVEEE, 1BRERER, SRR, WIMETIE——IRL

It is suitable for large diameter rough boring tool body, which is easy to be assembled.

It can be rough adjusted and easy to be operated. The 10 and 00 are one-to-one correspondence.

<
'=
c TIERS 1 i TIEES Kg P &35 EERTIE 1=
2 Designation Insert P value Main body Stock
S R23N P45-65.H18.VC16
= 46.5 40 18.5 VCMT 160408 0.17 45-60 BR D070-090.E63.75 ©
E R23W P45-65.H18.VC16
R23N P56-108.H18.VC16
R23W P56-108.H18.VC16 28 56 18.5 VCMT 160408 0.69 60-108 SNL 150-210.. ©
R23N P104-156.H18.VC16
R23W P104-156.H18.VC16 52 56 18.5 VCMT 160408 0.69 104-155 SNL 150-210.. ©
R23N P56-108.H18.VC16
R23W P56-108.H18.VC16 28 56 18.5 VCMT 160408 0.69 155-175 SNL 210-290 ©
R23N P104-156.H18.VC16
R23W P104-156.H18.VC16 52 56 18.5 VCMT 160408 0.69 175-220 SNL 210-290 ©
® TR IERIBR R SIRIT M,
® JTHURMI: 1 F R23N P45-65.H18.VC16.
@ Insert should be ordered separately.
® Ordering sample: 1 PC R23N P45-65.H18.VC16.
Spare Parts
Insert Clamping screw for insert Allen key for claming screw
VCMT 160408 SR21 M4x11 KEY02 T15
" R+ EERMIHE YIS RIEE
D1§J Size Material Cutting parameter
A9t | d S r VC(m/min) ap(mm) f(mm/rev)

(e COZOER VIR PR 16.6 9.525 476 0.8 o

120-280  1.00-3.50 0.15-0.40
80-180 0.50-2.50 0.08-0.30
° 150-350  0.50-2.50 0.08-0.30

Item in stock Item of short delivery time
Cc39 www.sunder-tools.com

® IR © FIREERF (TR, EHINE)

(please confirm delivery time when ordering it)

o TREfF (1THEBY, iBHIAZHE)
Order on demand
(please confirm delivery time when ordering it)

API RING GROOVING CUTTER wiEz\ixEt&#%7]
AR E Y T A5t AR

The Instruction Manual for API Ring Groover

HRiREE TR BB

Components of the API Ring Groover

AT]EE
ID Cartridge

o DIRBIETIR. TDHRMHHETE

° HMETIRE

o NZTIEE

e The main body includes tool holder, connection, and the two micro-adjustable head

e OD cartridge
o |Dcartridgeorrespondence.

o EART A AP| tnERNIREZ S E N T ;
o fRRT HIEHR T 2 AR RN T E R AR L &S ) ;
o —IBT]EREARMNNIMRTIEE, aIEE AP| tRESZRIERIINT ; WORRIE S

o FUSEERBIG, BEERE 0.01mm/ 15; Sraduatced dal /
o INITXES, MNIREMLT;
Features: TIR

e 1t is suitable for machining the API ring groove. Adaptor

e 1t can solve the polished problem of other brands API ring groover could not do.

e One tool body plus 3 sets ID & OD cartridges could machine all the grooves with API standard.
e 1t can be micro adjusted, and the dial each of which is 0.01 mm on diameter.

e Higher performance and higher stability.

DNEHFARRIHELERS

The Diagram for Calculation Method of Rough Adjustable Dimension

KATIRERE,

ORI AER T EREAE,
HE{E0.3-0.5BIE R FEEE.
The K indicates that the superposition
amount of tool nose,
The value of K will be larger one
when there is no overcut of rabbet.

w The recommended value is 0.3-0.5B

based on the width of bottom of slot.

2e-K

N A e=(B+K)i4
P
ATIRERZE=P-2e+K
BmA Dia. of ID tool nose
a)al

Part A INTIRER-P+2eK
Dia. of OD tool nose

IFAE

Processing Method
—RERFIZIERAMAEFLIOS R, SMENERR “e” I8, FHEMIR 23° ItHERE,

The general method is helix interpolation and milling for taper hole. The mini dia. of interpolation should be programmed as "e" and the half taper angle

should be calculated as 23°

&

SOTOOL

wEHE/IR

A TESE

=
=
=
=z
@
o
c
5
=
m
]
(1]

C40




TECHNICAL INFORMATION A& TECHNICAL INFORMATION A&
HEElINT sl T

Milling Milling
= . _ . RIEHSHFSTE, RRENTEE
*ﬂ!*ﬁﬂf‘? IBfF S WS ¥1ﬂ- Symbols of the cutting parameter were changed, see the following list
Designation Old symbol New symbol Units
tJJHl3®E Cutting speed Ve \Y, m/min ® IHIEE
Ve : fIEIEE [m/min]
Vf F mm/min 1 XDc Xn
V= Dc: nn&&E [mm]
1,000
Single edge feed fz f mm/ 5 n : EHEHEH [min']
N
#EG 1 Foeds f ' mmirev ® TiraisESESAR
7] ¥k Tooth number z Z (%) B supmas (mm/i)
=V Vf : IfeaitdiEs (movmin
H75EE)5R Axial cutting depth ap d mm ZXn Z : e (K]
z #1275 AR Radius cutting depth ae w Sl N oEEEEM [min'] -
- g £
s K48 Deep feed Pf Pf nm ® FEHMAN 7 3
g Pc: B (KW 83
3 EIMIZh77 Cutting power P PKw Kw Pc = KsxQ  KsxaexVfxap Puwe: Fr®aE1A (B7) [HP] Ksm AR @
- - S
Lt %% tT18IBE /] Comparative cutting resistance Ke Ks MPa 6,120xn 6,120,000 n ae : fHIZEE [mm] 4R 190
B Chi a a e - foxaexkxzxnxap VP TFaimARE (nm/min w20
2 Chips = il
6,120,000 X n f - SHAE [mm/t] =N 240
%%3% Spindle speed n N min’* Z : 7ang (Rl 5w 190
- EEEW 245
_6120 n oo RS [min] #ex 93
®= 4500 ¢ ap : & [mm] EECTS 120
Ks : LLonsimEnE (kgfmn] B/ #E |70

n . #wsE 0.7~0.8)
Q : yIEHIHE [cm3/min=cc/min]

@ VIBHHE
Q : yIEHHE [cm3/min=cc/min]

_aexVfxap  aexf;XZXnXap ae : YIMIEE [mm)

1000 1,000 Vf © TfeaisaiEE mm/min]
f. : grEsE (mm/
Z : NENH (kK]
n o EHEH [min]

ap : IiF [mm]

©® fnTRE T @ mIEE 5]
, , L' TamBHEKE [mm]
T= 60xL _ 60X L (=L+Ds+2a)
Vf f:XZXn

L #IHrReRE (mm]
Ds : 71£E1Z [mm]

a : ZSRES [mm]

Vf @ TiEg#t4AiERE [mm/min]
f: : SHHAE Imm/]

Z : nEnH (k]

n o EHEH [min]

%
ca1 www.sunder-tools.com :’, SDT;%QJIE. C42






